Scottish Enterprise Economic Impact Guidance

Leakage

	Leakage is the proportion of gross impacts of an intervention supported by SE that accrue outside of Scotland, SE’s area of policy intervention.


Why is it important?

Some of the direct benefits from an intervention might accrue to people or organisations based outside of SE’s target area.  For example, some of the jobs and wages created as a consequence of SE’s interventions with a beneficiary organisation might be gained by people working outside of Scotland.   

Given that SE’s remit is to achieve net economic development gains for Scotland then both appraisals and evaluations must identify the impacts that will benefit economies outwith Scotland as a result of an intervention.  This then needs to be subtracted from the gross impact of the intervention.
Failure to take account of leakage may mean that net impacts are overstated and this would bias the assessment of both absolute and relative performance by making the intervention appear to be having a greater impact on the Scottish economy than it really is.  
When do we need to consider leakage?

Leakage must be considered in every appraisal and evaluation.  It forms a core element in the process of converting gross impacts to net impacts.

What types of leakage might occur?

There are two main types of leakage and which can occur when:-
· Some of the gross direct jobs created through an intervention may not be based in Scotland.  The wages paid to these people will therefore not benefit the Scottish economy as they will be spent in other regions or countries; and  
· The operating profit created by the beneficiary (which is often a key component of GVA) may go to shareholders or others who live outwith Scotland.  Again the assumption is that this may not then benefit the Scottish economy.
Of the two types of leakage the first can be assessed relatively simply (and perhaps simplistically) by asking questions about where the additional employees work using the standard question set.  This, allied with other metrics can enable employment and GVA leakage to be assessed, as is shown below.
The second, whilst undoubtedly a very important consideration (especially when companies headquartered outside of Scotland are being considered) is far more difficult to assess.  For example, it may be that a company headquartered in Germany has shareholders, be they individuals or institutions such as pension funds, based in Scotland.  Thus it may be erroneous to assume that all of the profits of a foreign headquartered company will benefit areas outwith Scotland.  Given the difficulties in assessing this type of leakage generally attempts are not made to calculate it.  However, it can be reported upon if, for example a company is Scottish owned then it may be that there is less likelihood of GVA leakage then one, for example, headquartered in India.
How do you assess the level of leakage?

Assessing the level of leakage will require information from beneficiaries on:-
· Where the gross direct jobs generated by an intervention are based, distinguishing between jobs in Scotland and those elsewhere; and
· The proportion of any change in wages and salaries that will be paid to those not working in Scotland, although it may not always be possible to obtain this level of disaggregated data.
The data should be captured for each year of the impact time period, (if possible) to reflect the fact that the amount of leakage can vary over time.  This is especially the case for a programme of support where leakage can vary across different beneficiaries, as can be the case with company support programmes.
Provided the data are available then it is relatively straightforward to calculate the leakage.  Consider the following case of a single beneficiary intervention in which:- 

· The number of new gross direct jobs generated was 20;

· Two of these jobs went to people based at the beneficiary’s London office while the remainder were based at its Perth office. The employment leakage factor will therefore be 2/20 or 10% at the Scottish level;

· Gross GVA impact in the same year was £700,000, of which £560,000 was wages and salaries and the remainder (£140,000) was profits
;
· The two jobs for non residents accounted for 12% of the gross GVA impact; and
· The total leakage factors will therefore be 10% for employment and 12% of GVA, with the appropriate gross impacts being reduced by these percentages
If data is not available to enable the GVA impact to be calculated then employment leakage can be assumed to apply equally to GVA. Given that leakage generally accounts for a relatively small portion of the gross to net impact calculations, it is unlikely that making such an assumption will have a significant effect on the net impacts.

Need more help?

For further information contact:-

Suzanne Fleming, 0141-228-2062

Suzanne.fleming@scotent.co.uk
� For simplicity we are assuming that there is no depreciation or amortisation.
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